d3Us1AAIneasng

NuneaissuvImhgadalanuusegs Tuwuin nwa.s1uys, nWe.asuts 31U @ 30

ANNIATINITNAIUISLUUAILAZATVUIYTZZT I WENUNA o

UTENIATUATEAUT crveeeeeeeeeeeeeeee e seeseeseeseseesssesessessesessessssessassessssssssassssssassessssasen
(W% : uN)

a 1 '] 1 o a I a
T 578N15 A1dangUnsal ArRLuUNIS squtuRu

WEUNLEET
©)

Nt

WEUNLEET
%)

weun i

WEUNLEET
en

WL bl

WEUNLEET
<

WL b

sauduRu
ANEYaALNY Seuas o
sauduIuIURUNIEY
3% (HEudaiaue)
( )
AL
AvIuN

QUsAUSERURSIUTEN/919/5711)




UgyandsnaaInaainauuudenue Useninsiniavi

UNBESITLUUINNUIELAA LAAULTIFT TUNUN NNWR.51%

Y

---------------------------------------------------------

...........

U3, nWa.2aut 3117 4 90 MulATINITHAILITEUUEasTIMUNESzEEN 2 WUl 3 USianadeuaiunuazln

U : UM
e - , Ardangunsal ARLEUNIS . -
AU 378019 AU U8 FUuRY
FIAFDWUY AUIURY SIAFDNULY STUIUEY

1 |usunlesn

L1 |desavieSeaneinlaldfiu HDPE 160, PN10 (vieg) #iu Riser Pole 14.30 a. 2 L

12 |feswiosesaainiliaaennuu HDPE 160u3. PN10 91u3U 2 Yo #2835 HDD 40 LIRS

L3 |desavioSevaneinaldfu HDPE 16013, PN10 (viad) fiu Riser Pole 12.20 a. 2 [

14 [AessvieSovansialasonauu HDPE 16013, PN10 9112U 2 ¥ie #2835 HDD 40 LS

(1) s2duiku
Uy TUanIsIAIAINDATIMUUADNRUIY UTZAIMTIAMAUT oovveeerrrrerresveessseeeesssesessssssesssssssessssesss
1 b % o ] a Ya dy d' = = o [ 1 o 1 d' d' = = 1 o/
emnaaiwizuumwmammaimuu,iaga 1NW‘1J1/I ﬂV\lQ.’i’]ﬂiQ’i, AWD.22UUY U 4 Qqﬂ GI’]SJIﬂi\‘iﬂ’]’iWﬁNu']’SZ‘UUﬁ\‘iLL@%Q’]WN’]EJ?ZEJZVI 2 LLWUN 3 U'mzu'amaumuwwﬂn
w2E 1 UM

) ) . ArTangunsnl Ardluns ¢ =

RGN 78019 AU U FTURY
1AMNUY IIUIURY F1ARUUEY FTUIUEY

2 |uwunludn

2.1 |Cable, underground, CU. 22 kV 1x240 sg.mm. (5882019 64 LUHT) 384 LIRS

2.2 |Riser Pole 14.30 m. with Disconnecting switch , Cross arm 2 Yo

2.3 |Riser Pole 12.20 m. with Disconnecting switch , Cross arm 2 0

2.4 |Cable, Termination Kits For Outdoor 22 kV 1x240 sgq.mm. 12 Yo

(2) 523 duRu




o

UgyTandsnarAneainauuudeniaeg Useninsinavi

uneaFeszuuImealdaldfunsege Tunun nna.s1y3, nwe.asuts 91uu 4 9a malasenisiaiszuvdinazdmiieszesi 2 unun 3 uShanadguduiuagln

(519azd8nUsznau Riser Pole 14.30 m. with Disconnecting Switch , Cross arm (51a1%i@ 1 4n))

YUY 1 U
o v o . . A¥agqunsal ANRLEUNTS . o
a1uUN I8NIT MUY NUWY ) ) X " ) . AU YUY
31AMDNUY AUIULU 31AT6D9U8E FIUIURY
1 |Crossarm, Prestressed Concrete,Spun H.T. 100x100x2500 mm. q Nou
2 Brace, Flat, For Crossarm, 30x6x760 mm. q %,u
3 |Bolt,Machine M.16x130 mm. q 3
a |Bolt,Machine M.16x300 mm. 2 U
5 [Bolt,Machine M.16x350 mm. 1 ey
¢ |Bolt,Machine M.16x400 mm. 1 %,u
7 |Bolt,Machine M.16x450 mm. 1 3
g |Bolt,Double Arming, M.16x500 mm. 2 Fu
9 |Washer Plain Square 52x52x4.5 mm. Hole Dia. 18mm. 29 %‘u
10  |Switch Disconnecting 22kA 600A 40KkA Station Class 3 3
11 |Lightning Aresster 20-21 KA 10KA 3 u
12 |Cable Grip, Closed Mesh, For Supporting Three Underground Cable 240 sg.mm. 1 u
13 |Airseal Compound 1 Y0
14 |Connector, Parallel Groove, Triple Bolt,AL, ACSR 70-185 Sg.mm. 6 %u
15 |Conduit Steel Guard, 22 kV, 33kV, For Concrete Pole 14.30 m., DWG. NO. SA-015/44002 1 %u
16  |Tape, Electrical, PVC.Plastic, Outdoor Type, TIS.386 2 117U
17 |Wire Steel Stranded 50/7 sgq.mm. TIS 404 30 (R[]
18 |Clamp, Single U-Bolt, M.8 10 %u
19 |Conduit PVC DIA 20x2500mm. TIS.216 1 %,,u
20 |Rod Ground 60x60x5 mm. 2m. Long (GR-2) 2 T
21  |Welding Powder 3 Yo
22 |Cable Aerial AL 22 kV 1x185 Sg.mm. 30 LIRS
23 |Cable Aerial AL 22 kV 1x50 Sg.mm. 45 LIRS
24 |Cable Lug, Nema Hole, Compression Type, Al 185 Sg.mm. 6 %,u
25 |Cable Lug, Nema Hole, Compression Type, Al 50 Sg.mm. 6 %,u

(2) syuduRu




o

UgyTandsnarAneainauuudeniaeg Useninsinavi

uneaFeszuuImealdaldfunsege Tunun nna.s1y3, nwe.asuts 91uu 4 9a malasenisiaiszuvdinazdmiieszesi 2 unun 3 uShanadguduiuagln

(319a2198aUs52NaY Riser Pole 12.20 m. with Disconnecting Switch , Cross arm (51a716i@ 1 4n))

YUY 1 U
o v o . . A¥agqunsal ANRLEUNTS . o
a1uUN I8NIT MUY NUWY ) ) X " ) . AU YUY
31AMDNUY AUIULU 31AT6D9U8E FIUIURY
1 |Crossarm, Prestressed Concrete,Spun H.T. 100x100x2500 mm. q Nou
2 Brace, Flat, For Crossarm, 30x6x760 mm. q %,u
3 |Bolt,Machine M.16x130 mm. q 3
a |Bolt,Machine M.16x250 mm. 1 U
5 [Bolt,Machine M.16x300 mm. 1 ey
¢ |Bolt,Machine M.16x350 mm. 2 %,u
7 |Bolt,Machine M.16x450 mm. 1 3
g |Bolt,Double Arming, M.16x450 mm. 2 %,,u
9 |Washer Plain Square 52x52x4.5 mm. Hole Dia. 18mm. 29 %‘u
10  |Switch Disconnecting 22kA 600A 40KkA Station Class 3 3
11 |Lightning Aresster 20-21 KA 10KA 3 u
12 |Cable Grip, Closed Mesh, For Supporting Three Underground Cable 240 sg.mm. 1 u
13 |Airseal Compound 1 Y0
14 |Connector, Parallel Groove, Triple Bolt,AL, ACSR 70-185 Sg.mm. 6 %u
15 |Conduit Steel Guard, 22 kV, 33kV, For Concrete Pole 12.20 m., DWG. NO. SA-015/44002 1 %u
16  |Tape, Electrical, PVC.Plastic, Outdoor Type, TIS.386 2 117U
17 |Wire Steel Stranded 50/7 sgq.mm. TIS 404 30 (R[]
18 |Clamp, Single U-Bolt, M.8 10 %u
19 |Conduit PVC DIA 20x2500mm. TIS.216 1 %,,u
20 |Rod Ground 60x60x5 mm. 2m. Long (GR-2) 2 T
21  |Welding Powder 3 Yo
22 |Cable Aerial AL 22 kV 1x185 Sg.mm. 30 LIRS
23 |Cable Aerial AL 22 kV 1x50 Sg.mm. 45 LIRS
24 |Cable Lug, Nema Hole, Compression Type, Al 185 Sg.mm. 6 %,u
25 |Cable Lug, Nema Hole, Compression Type, Al 50 Sg.mm. 6 %,u

(2) syuduRu




L = 1

UUTENITIAIAINDFST1IUUABVUIY  UTZNIATIATEAUT oerereeeeeeeereceereeeeeeresesesessssesessesessssesessssessssssans

v

[ ]
~ =

unaafeszuvdmeialaldfunsege Tunun nna.s1vy3, nwe.asuts 91uu 4 9a malasenisiaiszuvdinazdmmiieszesi 2 wnun 3 USinuenuIewia ni vy diuuangen

U : UM
g . . Adanaunsal ARiuAg .
a10udi 51815 Fuau e saudulRu
FIAFBWUY IUIURY IAFDNULY SUIURY
1 |uwunlesn
L1 |Annsviefevaneinilalafu HDPE 160ua. PN10 (vieg) siu Riser Pole 12.20 4. 4 Y0
12 |feswiosesauiaiiaaonnuu HDPE 16013, PN10 91U3U 2 Y9 #2835 HDD 30 LIRS
13 |fesviosesauiaiiaannnuil HDPE 160313, PN10 91u2U 2 9 A1e735 HDD 30 AT
(1) 52 duly
I TUANITIATAINDATIMUUADNUIY  UTENIATIANMAUI cevvvrvernrrrreresssressesssseseessssssessssssessssssessssssns
RnuneaeszuuTmealalanunsege Tunun nna.s1ys, nwe.aauts 91uu 4 9a malaseniswauiszuvdinazdvineszesi 2 wnui 3 USiauenuiewig vy diuuanden
%Y : UM
o . , ArTangunsal Aeiunng .
a10ud $18A15 U ATets s duiku
1ATFNUY JUIURY SIANFDUUY SuIURUY

2 |weunlndln

2.1 |Cable, underground, CU. 22 kV 1x240 sg.mm. (5882919 54 LUs3) 324 LURT
2.2 |Riser Pole 12.20 m. with Disconnecting switch , Cross arm 4 Yo
2.3 |Cable, Termination Kits For Outdoor 22 kV 1x240 sg.mm. 12 Yo

(2) 52 duRku




UgyTandsnarAneainauuudeniaeg Useninsinavi

unaafeszuvdmeialaldfunsege Tunun nna.s1vy3, nwe.asuts 91uu 4 9a malasenisiaiszuvdinazdmmiieszesi 2 wnun 3 USinuenuIewia ni vy diuuangen

(319a2198aUs52NaY Riser Pole 12.20 m. with Disconnecting Switch , Cross arm (51a716i@ 1 4n))

YUY 1 U
o v o . . A¥agqunsal ANRLEUNTS . o
a1uUN I8NIT MUY NUWY ) ) X " ) . AU YUY
31AMDNUY AUIULU 31AT6D9U8E FIUIURY
1 |Crossarm, Prestressed Concrete,Spun H.T. 100x100x2500 mm. q Nou
2 Brace, Flat, For Crossarm, 30x6x760 mm. q %,u
3 |Bolt,Machine M.16x130 mm. q 3
a |Bolt,Machine M.16x250 mm. 1 U
5 [Bolt,Machine M.16x300 mm. 1 ey
¢ |Bolt,Machine M.16x350 mm. 2 %,u
7 |Bolt,Machine M.16x450 mm. 1 3
g |Bolt,Double Arming, M.16x450 mm. 2 %,,u
9 |Washer Plain Square 52x52x4.5 mm. Hole Dia. 18mm. 29 %‘u
10  |Switch Disconnecting 22kA 600A 40KkA Station Class 3 3
11 |Lightning Aresster 20-21 KA 10KA 3 u
12 |Cable Grip, Closed Mesh, For Supporting Three Underground Cable 240 sg.mm. 1 u
13 |Airseal Compound 1 Y0
14 |Connector, Parallel Groove, Triple Bolt,AL, ACSR 70-185 Sg.mm. 6 %u
15 |Conduit Steel Guard, 22 kV, 33kV, For Concrete Pole 12.20 m., DWG. NO. SA-015/44002 1 %u
16  |Tape, Electrical, PVC.Plastic, Outdoor Type, TIS.386 2 117U
17 |Wire Steel Stranded 50/7 sgq.mm. TIS 404 30 (R[]
18 |Clamp, Single U-Bolt, M.8 10 %u
19 |Conduit PVC DIA 20x2500mm. TIS.216 1 %,,u
20 |Rod Ground 60x60x5 mm. 2m. Long (GR-2) 2 T
21  |Welding Powder 3 Yo
22 |Cable Aerial AL 22 kV 1x185 Sg.mm. 30 LIRS
23 |Cable Aerial AL 22 kV 1x50 Sg.mm. 45 LIRS
24 |Cable Lug, Nema Hole, Compression Type, Al 185 Sg.mm. 6 %,u
25 |Cable Lug, Nema Hole, Compression Type, Al 50 Sg.mm. 6 %,u

(2) syuduRu




Uy TandsIAIAINDaZIUUUADNRUIY UTENIATIAMAUT corveeererreersereersesesesensesssssessssssessssssssssssssns

NuneaFeszuvImieiadaldfunsegs Tunui nna.s1vy3, nwe.aauts 31uu 4 9a malasenisiaiszuudiazdmmiteszesi 2 wnui 3 uSiuuendudilse

U : UM
o & o . , Ariaggunsal ARLTIUNTS .
a10udi 51815 Fuau e saudulRu
FIAFBWUY IUIURY IAFDNULY SUIURY
1 |uwunlesn
L1 |fnnsviefevaneinilalafu HDPE 160ua. PN10 (vieg) siu Riser Pole 14.30 4. 2 0
12 [Aensviedevansiailasonauu HDPE 16013, PN10 9119U 2 ¥ie #2835 HDD 50 Ln3
(1) 52 duly
Uy TUanIsIAIAINDATINMUUADNRUIY UTENIMTIAMAUT corvvvererrreerereseeeesssesessssessenssssssssssessesssssssns
NuneadeszuuImiieadalanunsegs Tunui nna.519y3, nwa.aauts 1w 4 9a malasanIsiauIsEuUdILazda e szesi 2 wHun 3 USiauendudilse
%Y : UM
o . , ArTangunsal Aeiunng .
a10ud $18A15 U ATets s duiku
1ATFNUY JUIURY SIANFDUUY SuIURUY

2 |weunlndln

2.1 |Cable, underground, CU. 22 kV 1x240 sg.mm. (5882019 74 LU#3) 222 LURT
2.2 |Riser Pole 14.30 m. with Disconnecting switch , Cross arm 2 Yo
2.3 |Cable, Termination Kits For Outdoor 22 kV 1x240 sg.mm. 6 Yo

(2) 52 duRku




UgyTandsnarAneainauuudeniaeg Useninsinavi

NuneaFeszuvImieiadaldfunsegs Tunui nna.s1vy3, nwe.aauts 31uu 4 9a malasenisiaiszuudiazdmmiteszesi 2 wnui 3 uSiuuendudilse

(519azd8nUsznau Riser Pole 14.30 m. with Disconnecting Switch , Cross arm (51a1%i@ 1 4n))

YUY 1 U
o v o . . A¥agqunsal ANRLEUNTS . o
a1uUN I8NIT MUY NUWY ) ) X " ) . AU YUY
31AMDNUY AUIULU 31AT6D9U8E FIUIURY
1 |Crossarm, Prestressed Concrete,Spun H.T. 100x100x2500 mm. q Nou
2 Brace, Flat, For Crossarm, 30x6x760 mm. q %,u
3 |Bolt,Machine M.16x130 mm. q 3
a |Bolt,Machine M.16x300 mm. 2 U
5 [Bolt,Machine M.16x350 mm. 1 ey
¢ |Bolt,Machine M.16x400 mm. 1 %,u
7 |Bolt,Machine M.16x450 mm. 1 3
g |Bolt,Double Arming, M.16x500 mm. 2 Fu
9 |Washer Plain Square 52x52x4.5 mm. Hole Dia. 18mm. 29 %‘u
10  |Switch Disconnecting 22kA 600A 40KkA Station Class 3 3
11 |Lightning Aresster 20-21 KA 10KA 3 u
12 |Cable Grip, Closed Mesh, For Supporting Three Underground Cable 240 sg.mm. 1 u
13 |Airseal Compound 1 Y0
14 |Connector, Parallel Groove, Triple Bolt,AL, ACSR 70-185 Sg.mm. 6 %u
15 |Conduit Steel Guard, 22 kV, 33kV, For Concrete Pole 14.30 m., DWG. NO. SA-015/44002 1 %u
16  |Tape, Electrical, PVC.Plastic, Outdoor Type, TIS.386 2 117U
17 |Wire Steel Stranded 50/7 sgq.mm. TIS 404 30 (R[]
18 |Clamp, Single U-Bolt, M.8 10 %u
19 |Conduit PVC DIA 20x2500mm. TIS.216 1 %,,u
20 |Rod Ground 60x60x5 mm. 2m. Long (GR-2) 2 T
21  |Welding Powder 3 Yo
22 |Cable Aerial AL 22 kV 1x185 Sg.mm. 30 LIRS
23 |Cable Aerial AL 22 kV 1x50 Sg.mm. 45 LIRS
24 |Cable Lug, Nema Hole, Compression Type, Al 185 Sg.mm. 6 %,u
25 |Cable Lug, Nema Hole, Compression Type, Al 50 Sg.mm. 6 %,u

(2) syuduRu




v A

Uy TandsIAIAINDaZIUUUADNRUIY UTENIATIAMAUT corveeererreersereersesesesensesssssessssssessssssssssssssns

1

NuneadeszuuImeadaldfunsege Tunui nna.s1vys, nwe.aeuts 31uu 4 9a malasensiaiszuvdiazdnmiieszesi 2 unun 3 uSinuendanauazln (wonudiusaan)

U : UM
o & o . , Ariaggunsal ARLTIUNTS .
a10udi 51815 Fuau e saudulRu
FIAFBWUY IUIURY IAFDNULY SUIURY
1 |uwunlesn
L1 |Annsviefevaneinilalafu HDPE 160ua. PN10 (vieg) siu Riser Pole 12.20 4. 2 79
12 [Aensviedevansiailasonauu HDPE 16013, PN10 9119U 2 ¥ie #2835 HDD 60 Ln3
(1) 52 duly
I TUANITIATAINDATIMUUADNUIY  UTENIATIANMAUI cevvvrvernrrrreresssressesssseseessssssessssssessssssessssssns
NuneadeszuuImiigadalanunsegs Tuwui nwa.519y3, nwa.aauts 31uu 4 9a mulasan1snauiszuvdinazdvieszesi 2 wnun 3 Usauendanauazln (wonudiusian)
%Y : UM
o . , ArTangunsal Aeiunng .
a10ud $18A15 U ATets s duiku
1ATFNUY JUIURY SIANFDUUY SuIURUY

2 |weunlndln

2.1 |Cable, underground, CU. 22 kV 1x240 sg.mm. (5882919 84 LUA3) 252 LURT
2.2 |Riser Pole 12.20 m. with Disconnecting switch , Cross arm 2 Yo
2.3 |Cable, Termination Kits For Outdoor 22 kV 1x240 sg.mm. 6 Yo

(2) 52 duRku




UgyTandsnarAneainauuudeniaeg Useninsinavi

1

NuneadeszuuImeadaldfunsege Tunui nna.s1vys, nwe.aeuts 31uu 4 9a malasensiaiszuvdiazdnmiieszesi 2 unun 3 uSinuendanauazln (wonudiusaan)

(319a2198aUs52NaY Riser Pole 12.20 m. with Disconnecting Switch , Cross arm (51a716i@ 1 4n))

YUY 1 U
o v o . . A¥agqunsal ANRLEUNTS . o
a1uUN I8NIT MUY NUWY ) ) X " ) . AU YUY
31AMDNUY AUIULU 31AT6D9U8E FIUIURY
1 |Crossarm, Prestressed Concrete,Spun H.T. 100x100x2500 mm. q Nou
2 Brace, Flat, For Crossarm, 30x6x760 mm. q %,u
3 |Bolt,Machine M.16x130 mm. q 3
a |Bolt,Machine M.16x250 mm. 1 U
5 [Bolt,Machine M.16x300 mm. 1 ey
¢ |Bolt,Machine M.16x350 mm. 2 %,u
7 |Bolt,Machine M.16x450 mm. 1 3
g |Bolt,Double Arming, M.16x450 mm. 2 %,,u
9 |Washer Plain Square 52x52x4.5 mm. Hole Dia. 18mm. 29 %‘u
10  |Switch Disconnecting 22kA 600A 40KkA Station Class 3 3
11 |Lightning Aresster 20-21 KA 10KA 3 u
12 |Cable Grip, Closed Mesh, For Supporting Three Underground Cable 240 sg.mm. 1 u
13 |Airseal Compound 1 Y0
14 |Connector, Parallel Groove, Triple Bolt,AL, ACSR 70-185 Sg.mm. 6 %u
15 |Conduit Steel Guard, 22 kV, 33kV, For Concrete Pole 12.20 m., DWG. NO. SA-015/44002 1 %u
16  |Tape, Electrical, PVC.Plastic, Outdoor Type, TIS.386 2 117U
17 |Wire Steel Stranded 50/7 sgq.mm. TIS 404 30 (R[]
18 |Clamp, Single U-Bolt, M.8 10 %u
19 |Conduit PVC DIA 20x2500mm. TIS.216 1 %,,u
20 |Rod Ground 60x60x5 mm. 2m. Long (GR-2) 2 T
21  |Welding Powder 3 Yo
22 |Cable Aerial AL 22 kV 1x185 Sg.mm. 30 LIRS
23 |Cable Aerial AL 22 kV 1x50 Sg.mm. 45 LIRS
24 |Cable Lug, Nema Hole, Compression Type, Al 185 Sg.mm. 6 %,u
25 |Cable Lug, Nema Hole, Compression Type, Al 50 Sg.mm. 6 %,u

(2) syuduRu




